(08/11/13) wef REF: (////	2 12 2 2 2 7 7 1 1 1
	124070377 [Unp3]
ASSI	GNMENT CAR CARROL OF THE CARRO
From: Date:	Veh No: SLA GU (3M) Yr Regn: 2/09/07
Estimated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD TP WS TP RES TOD RESTEVATING MY	Truck/ trailer or
To Inspect Vehicle No: SZA F6/3M	A/O Learned / Old / NI / NA
at Workshop m/s Lee holy	Colour T/Radio: Insured / Std / NI / NA
of	Sp.Reading / 6 / / / / / / / / / / / / / / / / /
Insured: XD 9114	Eng/No:
Policy No.	CNO: WDD 2040412A0£1614
Claims No.	Gen. Cond Good / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: horder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: Inforder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nil / S/Rim / STD A/Rim or
	Tyre Size: F:
(Policy Condition)	R: DESTRICT
Remark: The veh had commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA / WHO TOHTSU / PIR / SUMI /
repair at the time of inspection.	TOYO / YOKO or
Bal. or Market Value: \$36 k.	Front Rear
IDAC Accident Rport: Consistent? : Yes or No	R/Bal. mm R/Bal. mm
GIA / PR Seen: Consistent? : Yes or No	L/Bal. mm L/Bal. mm
Est. Repairs: Adays Res.: Yes or No	D.O.A. 22/07/24 D.O.I. 24 /1/24
Lum Sum: % 3 Val.: Yes or No	Survey held at
CA / REV / REP. / 24 HRS 675/1	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
Vehicle: IN / OUT	Red Structure affected the to collision
Date: Person Contacted:	The U/C / Chassis frame / Body Structure affected due to collision.
Date / Time Action / Instruction Do 11/4	15914 Rol 3yrs. 2ml.
10/2 V 1/2 - GUO 2 10/2 M	Cles
18107 15 & THOO MAN AND	,
(Red , \$17	3565.85, 597.)
Date/Time, File Pass to? : Preli. Report	Days Of Repair:
1) : Final Report	Resurvey No. of Trip: Survey Fee:
Date/Time, File Return to?	Transportation:
Add Fe	
	: Interview (\$) Photos
Report Format :	: Tech. Invs (\$) Others
Lump Sum / I.B.I: (\$: Weekend (\$
	TOTAL

> Back to OneMotoring

• Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	625G
Vehicle No.:	SLA8013M
Vehicle to be Exported:	No
Intended Deregistration Date:	23 Jul 2024
Vehicle Make:	MERCEDES BENZ
Vehicle Model:	C 200 KOMPRESSOR
Primary Colour:	Black
Manufacturing Year:	2007
Engine No.:	27195030954130
Chassis No.:	WDD2040412A051614
Maximum Power Output:	135.0 kW (181 bhp)
Open Market Value:	\$42,819.00
Original Registration Date:	21 Sep 2007
First Registration Date:	21 Sep 2007
Transfer Count:	2
Actual ARF Paid: Intended PARF Rebate Details	\$47,101.00
PARF Eligibility:	Forfeited
PARF Eligibility Expiry Date:	
PARF Rebate Amount: Intended COE Rebate Details	\$0.00
COE Expiry Date:	20 Sep 2027
COE Category:	B - Car (1601cc & above)
COE Period(Years):	10
PQP Paid:	\$50,355.00
COE Rebate Amount:	\$15,914.00
Total Rebate Amount: Message	\$15,914.00
fou will not be eligible for any COE rebate from the cur	rent COE (including unused COE from any lay-up period/s), if you renew your COE.

The information contained herein is correct as at 23 Jul 2024

SGCarmart

Q

(A) Login | Sign Up

New

Used

Electric

Loan

Rent

Sell Directory

e-Shop Insurance

Articles

Forum

Resource

OVER 40,000 CARS TRANSACTED

Simply sell your car for MORE!

Advertiser Login

Make



Post an Advertisement Sell it yourself! Advertise it at just \$72 until it's SOLD!

Lowest Depreciation! Jeep Gladiator 3.6a Overland!



Owner! 5 Years Agent Warranty! Can Be Register Jnder Personal Name ! Seng Hup Auto StarAd



8 vehicles

Post an Ad

Mercedes-Benz C200 2027

Ways of Selling

Any Category

Advanced Search C

results/page

Status

Model

Price Depreciation Reg Date

Eng Cap

Sort by Date Posted

Veh Type

Any

20

Search Selection

Mercedes-Benz C200 2027

Any

Anv

> 10 year(s) old

Mercedes-Benz C-Class C200 (COE till 05/2027)

\$41,450

\$14,520 /vr Excellent interior/exterior, tip top engine & gearbox! Maintained by C&C/specialist. \$10k+ maintenance include full SVC,

new undercarriage/bushings, steering box rebuilt, suspension, F&R brakes, control arms, fuel system, alternator done...

28-Jul-1997

1.998 cc

185.000 km

Mileage

Luxury Available

DIRECT OWNER

Available

Posted: 23-Jul-2024

Mercedes-Benz C-Class C200K (COE till 11/2027) \$52,815

\$15,740 /yr

03-Jan-2008

1.796 cc

Luxury

Available

PREMIUM AD

Cheapest in SG! Well kept unit! 100% full loan, PHV loan, LTO are available! We are Sgcarmart Premium Dealer for 10 consecutive year since 2014! Buy with confidence! In house loan or bank loan available! Fast and easy loan approval! A...

88 Motor Trading

Posted: 19-Jul-2024

Posted: 19-Jul-2024



Mercedes-Benz C-Class C200K (COE till 11/2027)

\$42,500 \$12,720 /yr 26-Nov-2007

1,796 cc

159,000 km

Luxury Available

Extremely well kept unit. Wear and tear parts replaced, repair cost over \$10,000 with receipts provided! Buy with a peace of mind. Easy and flexible bank and in house loan available. 100% loan available. Immediate approval. Call me...

DIRECT OWNER

Mercedes-Benz C-Class C200K (COE till 09/2027)

\$38,888

\$12,470 /yr

05-Sep-2007

1.796 cc

Luxury

Available

Best deal, well maintained by the previous owner! No repair needed! 100% accident free! Tip top condition view to believe! High loan with low interest rate! Trade in your vehicle are welcome! Call us now for viewing and test drive!

PREMIUM AD

Net Link Partners Pte Ltd

Posted: 16-Jul-2024



Exceptional Comfort Lexus RX450+ LUX Fr Lease

Lexus RX450+ Luxury for lease. Vehicle delivery/collection is available, contact us for more details.

Find out more!



Mercedes-Benz C-Class C200K (COE till 10/2027) \$36,708

\$11,420 /yr

10-Oct-2007

1,796 cc

186,500 km

Luxury

Available

Cheapest in the market, priced to sell! Meticulously maintained, non abused, no sticky panels or button, immaculate condition, hassle free, great drivability, 100% loan and \$0 driveaway available, trade in welcomed, call/WhatsApp us...

PREMIUM AD

Posted: 15-Jul-2024

LEE BROTHERS AUTOMOTIVE PTE. LTD.

NO 1 KAKI BUKIT AVE 6 #02-47 AUTOBAY SINGAPORE 417883

Tel: 6509 5521 / 65095524 Fax: 6509 5523

The Motor Claims Dept.

CHINA TAIPING INSURANCE (S) PTE LTD

3 ANSON ROAD

#16-00 SPRINGLEAF TOWER

SINGAPORE 079909

XD9154A

ESTIMATE

VEHICLE NO :

SLA8013M

MAKE/MODEL :

MERC C200

ACC DATE :

22.07.2024

PARTIC	ULAR
--------	------

UNIT PRICE

AMOUNT

ARTICULAR 2	UNIT PRICE	AMOUNT
QTY	SS	SS
LIST PRICE		
1 REAR BOOT LID BOOK SO	2,235.77	2,235.77
1 REAR BOOT M/B STAR	69.95	69.95
3 REAR BOOT M/B STAR CLIPS AM	8.50	25.50
1 REAR BOOT EMBLEM 'C200' 1M	89.95	89.95
1 REAR BOOT EMBLEM 'KOMPRESSOR' AL	89.95	89.95
1 REAR BOOT CHROME MOULDING CNE/SCN	261.90	261.90 -
2 REAR BOOT LICENCE LAMPS 🔥	86.55	173.10
1 REAR BOOT INNER LOCK Twi/Dyl	573.82	573.82_
1 REAR BOOT INNER TRIM	390.61	390.61
1 REAR BOOT W/STRIP $7 \sim 1$	281.18	281.18
2 REAR BOOT HINGES -R/L	181.50	363.00
2 1 REAR BUMPER	1,897.21	1455.7 1,897.21-
1 REAR BUMPER TOW COVER 11	42.20	42.20
1 REAR BUMPER CHROME MOULDING -CTR // //	211.43	211.43
2 REAR BUMPER CHROME MOULDING -R/L 111	178x22 252.06	356.00 504.12/
4 REAR BUMPER PDC SENSOR SW	281.33	1,125.32
7 1 REAR BUMPER PDC SENSOR WIRING HARNESS 🔨	481.63	481.63
1 REAR BUMPER REINFORCEMENT 3M f	1,075.60	7.5.00 1,075.60
2 REAR BUMPER SIDE BRACKET -R/L	115.00	230.00
2 REAR BUMPER SIDE RETAINERS -R/L	126.50	253.00 0
1 REAR END PANEL	2,031.60	1208.10 2,031.60/
1 REAR END PANEL INNER MEMBER \(\lambda\)	681.43	681.43
1 REAR END PANEL GARNISH $7 \sim 1$	281.30	281.30/
1 REAR FLOOR BOARD WOYN	581.60	485.20 581.60/
1 REAR FENDER -LH	2,855.60	2,855.60 >
2 REAR FENDER INNER TRIMS -R/L SUC	581.60	1,163.20
1 REAR SPARE TYRE WELL (N	481.66	481.66~
2 REAR TAILLAMPS -R/L (M	60572 710.53	170 1,421.06-
2 REAR TAILLAMP PANELS -R/L	165.50	331.00≪
2 REAR TAILLAMP SIDE GARNISHES -R/L 1	89.90	179.80
2 REAR TAILLAMP SIDE GARNISHES -R/L TWI 1 FRONT HEADREST -RH Activotal (C)	861.90	861.90 L
	ž	21,245.39
	LESS 10%	2,124.54
		19,120.85

LEE BROTHERS AUTOMOTIVE PTE. LTD.

Ah	RTICU	LAR	UNIT PRICE	AMOUNT
	QTY		SS	S\$
	1 1 1	SPECIAL NETTS ITEM (SET) REAR BOOT INNER TRIM CLIP (SET) REAR BUMPER CLIP (SET) NO PLATE	60.00 60.00 65.00	11 60.00 X 1M 60.00 Y SU 65.00 X
	1	(SET) SPARE WHEEL WELL SEALANT	120.00	120.00 (/ 305.00
		LABOUR CHARGES:		
		TO CHECK REAR ELECTRICAL WIRING		50.00 2
		TO REMOVE & REFIX REAR INTERIOR TRIMS TO ASSIST REPAIR		120.00 6
		TO TUFF KOTE		120.00 6
		TO DIAGNOSE AND ERASE FAULT MEMORY AFTER REPAIR		11 350.00 %
		TO PUTTY, SPRAY PAINT & POLISH AFFECTED PARTS		1,400.0090
		TO PANEL BEAT, CUT, WELD, REMOVE & REPLACE DAMAGED PARTS		1,500.00
			TOTAL:	3,540.00
		LKK Auto Consultants hence notify the Repairer of the following: To resurvey before/after spray painting To display damaged part(s) during resurvey Parts prices are subject to confirmation		
		Third party survey is on a "WIESTIMATE PARTS AND LABOUR (No illegel modification(s) is allowed Supply namely tems) must be resurveyed and is subject to final approval from Insurance Company	GRAND TOTAL :	\$ 22,965.85 P C
		Acknowledged by Repairer Signature: Date:		79 P